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a—F d Fik | FER (kg) %8 (M) il Tl 2 P (BAAL)
30100 75V Z A 30 2,700 108 86 76 | B 304
31800 IFHINAE 10 4, 406 86 86 86 | BN 513K
31950 H#AX 5 1,382 86 86 65| &M 183K
31900 ¥ 12 4,109 648 162 162 | A 12kg
36800 HoX k9 40 15, 530 540 324 324 | BN 40kg
34270 Xy ¥—= 272 76,910 28,651| 28,651 23,857 | BN 31
134270 Xy F—= 12 4,536 86 86 65| B 604
35220 XM ELHIE 1 302 540 216 216 | B kg
35303 R F v TEXAED 16 4,725 324 270 270 | BA 16kg
Y3026 97 ExAE D (F) 20 6, 480 378 324 270 | B " 20kg
Y3115 EZXA LD 2 97 54 54 54| B 2kg
Y3115 FEXAE D 154 71,848 | 29,247 4,220 1,320 | &N 41l
35400 £ HEH 58 20, 282 389 389 216 | BA 58kg
35402 LAXEE 8 8, 640 1,080 1,080 1,080 | &M 8kg
Y3033 | ZZHAAL 20 2, 160 108 108 108 | &H 20kg
36200 & 30 5, 508 194 194 173 | B 30kg
36260 12 L7 330 56, 484 1,836 1,728 1,620 | BN 334 — X
36600 T-EAE 60 8, 856 151 151 140 | B 60kg
Y3017 iEtE Y 2 1,944 972 972 972 | BN 2kg
Y3030 iEA () 1 1,382 1,728 1,728 1,728 | BN lkg
46108 XTI DN 19 20, 844 378 324 292 | BN 633y 7
71011 A7 L—3% 42, 498 65 38 38| BN 9304
71160 B (&) 4,618 32 16 11| &N 304K » b
71162 |4 () 10, 584 140 140 108 | BN 84K v b
53456 |- indelE 7| 2,646 378 378 378 | B Tkg
Y5010 SbRE (&) 12 5, 698 648 648 238 | BN 12kg
30100 NI A B |L 140 2,376 54 11 11 BRE 1404
130300 AB B 40| 4,536 |  1,296] 1,080 1,080 FEIRE 4r—2
31100 - HE L 270 8, 964 648 432 432 |BEIR B 184 — &
33500 YT HHE L 2 156 6 6 6 | 1@ 2448
33703 'ELH 2 540 54 54 54 |8 H 1048
133810 HEX 4 648 32 32 32 | BERE 204%
37440 \hbh 2 896 896 896 896 | IR & 1r—=
Y5005 4 K3EA 5 1,534 1,534 1,534 1,534 | K% 17—
31700  F 140 12, 420 972 864 864 | IR B 14—
31800 1EH N A 8 2,916 76 76 70 |ERS 404%
31950 HiA¥ 36 4, 752 540 324 324 |EIRE 1247 — A
31900 ¥ 5 2,106 270 162 162 |EIRE 103K (500g)
32800 {25 S 10 1, 620 43 5 5| &R 10038
34300 721 4 1,037 86 86 86 | REA 1248
34300 723 3L 45 13, 068 1,620 1, 404 1, 404 | REAR 94 — R




w4 HE - BRGEATRE . 2H
a— R s Hik | BER (kg) &8 (M) =l o fig £l PE (BAL)
34400 k= b 36 8, 100 1,080 864 648 | B B 97 —2A
34460 I =Lt F & M 5 2,959 140 119 119 | ER & 24832 7
34100 #AIK 55 11, 556 1,296 1,080 864 | IR B 1147— 2R
34100 K L 15 3,564 1,188| 1,188  1,188|BEIRE 34 —2
34100 #AI B 30 3,024 540 540 432 | BERE 648
34200 N 50 8, 100 1,620 1,620 1,620 =2 —3— 54 —2A
A
34500 bv—< L 1, 890 43 22 22| EIRE 604
34571 2F VU H GR) 3,132 194 108 108 |5&[E 21{#
34572 7Y B (E) 1, 458 140 130 130 |¥&[E FL{E:
36210 A—7 A2 (#) 2L 50 8, 478 1,836 1,728 1,458 |EIR B 54—
36600 7-FnE ' /N 200 9,072 1,080 864 864 | Jt#EHE 10% v k
37200 Lk H 8 2L 8 2, 376 1,296 1,296 1,080 | F1[E 24— R
33400 L # % 2L 30 4,925 86 86 65 |REA 601
33600 %t Y 1 65 11 11 11 | &[] 64
38100 A LU =iF L 2 1,296 65 65 65 | IR B 20,8y 7
38100 A LW B L 8 4, 644 76 54 54 | B 80/ 7
33100 T AT H R S 5 3, 888 97 65 65 |8 503
31310 AT 5 1,890 76 76 76 | 1 254%
31500 /IMAZE 4 1,512 1,512 1,512 1,512 ERE 1r—=
31500 /MASE 12 3, 564 65 65 54 |EIRE 6048
32500 HoiF 2 1,242 65 65 59 | K4y 2036
34800 BB 2 1,512 76 76 76| X A ©20%w b
37560 BBIT 1 2,754 378 216 216 | K4y 108y 7
38400 X DEH 5 1,620 1,620 1,620 1, 620 | F & 17 —2
38400 ZMDEH 20 3, 348 22 16 13 | EER B 2004%
38604 T U LXEH 3 1, 080 43 32 32 | R IR 3048
41346 /<— LAt L 130 2,754 216 216 162 | REA 137 —=
41450 TER. 4L 20 4,104 2,052 2, 052 2,052 |5 24— A
41481 T aRy 10 1,944 972 972 972 | IR E 24— A
41814 [ H &0 10 1,728 864 864 864 | E IR 24—
Y4005 ALY 15 9, 396 9, 396 9, 396 9,396 |7 AUH 1 —R
Y4017 Y rsU 20 5, 832 2,916 2,916 2,916 | F ¢ 24— A
46108 | XTI DOIE 17 11, 642 216 216 173 | BERE 583y 7
Y4047 HEEBD 12 7, 344 194 194 173 |18 403y 7
&5t 2,628 584, 531

2/2




